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WEST BENGAL STATE UNIVERSITY
B.Sc. General Part-III Examination, 2021

CHEMISTRY

PAPER: CEMG-IV

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks. aNfer T F0Z T YMo Q"Y/VW fac Fed1
Candidates should answer in their own words AT [NCST ©IRNF TR T AT AT M

and adhere to the word limit as practicable. s R
CEMGT-34A 12x2=24
Answer any fwo questions from the following
Feferiee -t 76 etis Tea wie
1. (a) What are determinate and indeterminate errors? 2
e ¢ wifadre @6 & ¢

(b) What is standard deviation? Determine the standard deviation for the following 1+2

numbers:

0.60, 0.62, 0.55, 0.67, 0.68, 0.72, 0.85

et RS & ¢ farae aifafem e Rprfs fdt sat
0.60, 0.62, 0.55, 0.67, 0.68, 0.72, 0.85

(c) Describe the method of gravimetric estimation of Barium (Principle, Reaction, 4
Procedure, Calculation).

coIfeTs srafere @fRacE siftae e «mfst ada st (TS, [, sm&fs, s

(d) What do you mean by ‘RAM’ and ‘ROM’? Give any one difference between 2+1
‘RAM’ and ‘ROM’.
‘RAM’ @ ‘ROM’ Fe708 & @I 2 ‘RAM’ € ‘ROM’-97 G35 #1127 =Tl

2. (a) Discuss the importance of solubility product in chemical analysis with one 4
example.
A T TIRTo! @oPCeTa @y G0 Sriggel LA SICeIbel FCl |
(b) Describe a method for gravimetric estimation of Lead (Principle and Reaction). 3
(OIfers ormfore @I s fNeiws smafst 3@ Fa@t (TS ¢ &)
(c) Experimental value of a quantity is 14.75, but its actual value should be 14.70. 3

Calculate ‘absolute’ error and ‘relative’ error for this result.
a6 AR TG W 14.75, € 229 oo N« 263 TH® 14.701 98 T &)
oy @l @ SICoifERe @b aefa T
(d) Add the binary numbers 1101 and 11011. 2
1101 @ 11011 f&=s k241 75 it el

1 Turn Over
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3. (a) What do you mean by primary and secondary standard solution? Calculate 2+2
equivalent weight of KMnOj in acid medium.

27 @ (el 2fElel 719l Fo0e R QIR 9 TS G KMnO,-93 QeiwelR foefa e

(b) How is Mg estimated complexometrically? 2
TGS “Fafore Feim Mg-«a3 #fsie fe a1 =i 9

(c) What is chromatography? Name two adsorbents suitable for use in column 2+1
chromatography.
CICBIENTR 6 9 oI (@IIGINFre R SN wit SRR s el |

(d) In the estimation of Fe*" by K,Cr,05 in acid medium calculate equivalent weight 2+1
of the primary standard solution showing half reaction. Which indicator is used
here?

K,Cr,0,-93 ARG SfEF @1 Fe' sfawisied ffve wdfien w2 g4 e weifoa
CEESR e S @ I @i o I9Te 73 9

4. (a) What type of indicator is used in complexometric titration? Explain with example. 3
FCREIES #AfAio [ a@ees Mo Tag@ 791 2 2 TSriggenm 1L S|
(b) Mention the names and functions of constituents of Zimmermann-Reinhardt 2+2

solution. Write chemical name and formula of Mohr’s salt.

- AiEART TRed SrReeefd ok et SISl @Il (IR SRR PR
I3 8 (PO (=TCAT |

(c) State the criteria for selection of indicators for acid-base titration. 2
SEFIRT 2w [ s diveTa Aife Kige we

(d) What is meant by thin layer chromatography? Mention the adsorbent and binder 2+1
used in its stationary phase.

1o (FT0F (FINGIANF F 2 @it {20 veiiE (9 420eia SES @R 95 72 FAA 7 9

CEMGT-34B 12x1=12
Answer any one question from the following
fmfeiide - «ols e e nie
5. (a) What is carbonization of coal? Compare the calorific values of coal gas, producer 4

gas and water gas.

AR FIEa F 9 I o7, (@S 971 @ SR MR Oivie o Geral Il

(b) Name the constituents of LNG and give its calorific value. 2
LNG-99 SAMASET 1% FR1 @R G ©194« 67 7S |
(¢) What is triple superphosphate? Write a short note on Bio-fertilizer. 4
fG7@ FJEINCEs [ 2 (o[ @R T e Bt @Teai |
(d) What is photochromatic glass? Mention its use. 2
FOCENT 16 6 9 93 FI27 TE FE|
6. (a) Give the outline of production of urea. Which one is a better nitrogenous fertilizer, 4

urea or ammonium sulphate?

3ol todm @diftg we1 WiEthitew Wbe ww R @ e, T/
GRS AT 2
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(b) What do you mean by antiknock compounds?
IR (ol 00 T QIR 9

(c) What is cracking? Explain with a chemical reaction.
o [ 2 93T ARl i AR i sl

(d) What is the function of gypsum in cement?
IS e it & ¢

. (a) Write down the monomers of Nylon 66 and state one of its uses.
BT 66~ NARSET @A @R @9 9o J2 TeE I |

(b) Write short notes
(ii1) Polyester.
Q-G qioa ©ow WY Bl @Al (i) Silicone rubber, (i) Polythene,
(ii1) Polyester.

(c) How is Metronidazole prepared? State its use.
EeEE Tl oe 41 27 9 13 3T Orad I |

(d) State the functions of pigment in paint.
R OF T IG6F-9F I SCaE IR

on any two: (i) Silicone rubber, (ii) Polythene,

. (a) Give an outline for production of lactic acid from molasses. State its uses.
RIFTIYT (AT TFHF ST TR G FAE WS | 3R IR Sae I |
(b) What is vulcanization of rubber? What is its importance?
G SlEFILcEe F ¢ @3 9wy F 9
(c) Name one homopolymer and copolymer with their structural configuration.
@3 o @TAETIR ¢ @ieiferR sz Srae Il
(d) Describe the process of preparation of congo red.
FEIES 2gfs 3t T
(e) Write other names of Vitamin A, B, B, and Be.
OIS A, By, B, 8 Bg @3 9177 % & 9

CEMGT-34C

Answer any one question from the following

FefEie @-@m 95 emie Tea wie

. (a) Name two Green House gases. Why are they called so?
(o fale 21T SR W% 0 | (@ SId @2 NI (e 2 9
(b) Distinguish between BOD and COD.
BOD ‘¢ COD-&7 W& A1y (el
(c) Write what measures can be taken to prevent soil pollution.
el eferices &= [ 6 78 (e @e 2t @il
(d) What is PAN? Give its formula.
PAN & 9 @9 0% (=131
(e) What are the major layers in atmosphere?

AT YU (S 5 9

2x2

1+2

13x1=13

1+2

1+2

Turn Over
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10.(a) What are the harmful effects of the gases SOy and NOy in the atmosphere?
ARG SO, @R NO, MHelr Hlosq geRef & & ¢
(b) Describe the process of waste water treatment.
5 T elfGaeaed oiafeft afa Tl
(c) Give the harmful effects of lead, mercury and cadmium metals.
(FTC, N 8 FCHRN dgelm Ffowa eeRef Sae @l
(d) What is acid rain?

RESERSE

11.(a) What is meant by rancidity of 0il? How can it be prevented?
(SR THEH e F QI ¢ 3 [Feir afewiy w1 a7 ¢

(b) Write down the chemical reactions involved in soap production. What is
transparent soap?

AR Teoines Feaibe [ @il = [ & ¢
(c) How can you prepare the following? Give their uses.
fefaRRoel e awe 9@ ¢ v 37T e @
(1) Aldrin (ii) Decamethrin.
(d) Give the names of two important emulsifiers.

(b 2l ZARTHPINCEA I (=T |

12.(a) Write the difference between ‘Pesticide’ and ‘Insecticide’. What is I.G.R.? Give
one example.

“Pesticide’ '@ ‘Insecticide’-7 Je&y 24 L1 L.G.R. & » 9o Twiggel wis)
(b) Give an outline for the large scale production of Vanaspati.
IS 2Rgre “Ateieve “iaod Heiaal s |

(c) Write the difference between oils and fats. What is ‘lodine number’ of oils and
fats?

(S5 @ 5A AL @1 (95 8 5 e ww & 9
(d) Name two food preservatives. State their uses and abuses.
S A RIS AL AT @Al I IR € AR [ A |

Overall Impression-1 mark

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Com. Programme 1st Semester Supplementary Examination, 2021

ENGLCOROLT-ENGLISH (LCC1)

NEwW AND OLD SYLLABUS

Time Allotted: 2 Hours Full Marks: 50

1211

Thefiguresin the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

NEW SYLLABUS

ATTEMPT ALL The QUESTIONS 1x50 =50
How many children are mentioned in the poem “ Sita’ ?
(A) two (B) three (C) four (D) five

What old story is narrated in “Sita” ?
(A) afable (B) aghost story
(C) the story of the Ramayana (D) the story of the Mahabharata

Who wrote the poem “ Sita” ?
(A) Sargjini Naidu (B) Toru Dutt
(C) Rabindranath Tagore (D) Ruskin Bond

“Where the Mind is Without Fear” is a poem by
(A) William Wordsworth (B) Toru Dutt
(C) Rabindranath Tagore (D) William Shakespeare

What is meant by “the head is held high” in the poem “Where the Mind Is Without Fear”?
(A) an atmosphere of freedom and equality (B) atall person
(C) an atmosphere of terror (D) aperson with physical disability

The phrase “dreary desert sand of dead habit” is used in the poem “Where the Mind Is
Without Fear” to mean

(A) superstition and irrational thoughts (B) an epidemic
(C) water crisis (D) an oasis

Which of the following poems is the work of Prathibha Nandakumar?
(A) Sita (B) Bangle Sellers  (C) Poem (D) none of these

1 Turn Over
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10.

11.

12.

13.

14.

15.

16.

17.

1211

Why was Prathibha Nandakumar thinking of writing a new poem?
(A) to send it to amagazine (B) to surprise afriend
(C) to spend her leisure hours (D) to read it in the poetry festival

What happened when Prathibha Nandakumar sat down to write?
(A) thoughts and ideas started flowing spontaneously

(B) her mind went blank

(C) someone came to disturb her

(D) shefelt hungry

Who composed the poem “ The Felling of the Banyan Tree”?
(A) Rabindranath Tagore (B) Premchand
(C) Dilip Chitre (D) Toru Dutt

What is cited as the most striking difference between Baroda and Bombay in “The Felling of
the Banyan Tree”?

(A) absence of treesin Bombay (B) no river in Bombay

(C) no hill in Bombay (D) no big pond in Bombay
Where was the house situated in “The Felling of the Banyan Tree”?

(A) in Bombay (B) on ahill

(C) on the bank of ariver (D) on the beach

Which of the following piecesis written by Premchand?
(A) “The Photograph” (B) “The Woodrose”
(C) “The Doctor’s Word” (D) “Thakur’'s Well”

Gangi was forbidden to draw water from the Thakur’s or Sahuji’s well because
(complete the sentence, keeping in mind the short story “Thakur’ s Well™)

(A) she had quarrelled with them

(B) she was from an “untouchable community”
(C) she was believed to be awitch

(D) al of the above

Why was Gangi unable to bring water home in “Thakur’s Well”?
(A) the water was polluted (B) the well was dry
(C) the Thakur scared her off (D) the pitcher was too heavy to carry

Who is the author of the short story “The Doctor’s Word”?

(A) RK. Narayan (B) A.K. Ramanujan
(C) Ruskin Bond (D) Premchand
What opinion did people have of the doctor in “The Doctor’s Word”?
(A) that he was dishonest (B) that his words were final and unquestionable
(C) that he was greedy (D) that he was not dutiful
2
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.
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Dr Raman believed that false words of hope could not (complete the sentence,
keeping in mind the short story “The Doctor’s Word”).

(A) save apatient’slife (B) add to his popularity

(C) be harmful (D) all of these

Dr. Raman and Gopal had known each other for (complete the sentence, keeping
in mind the short story “The Doctor’s Word”).

(A) forty years (B) ten years (C) fifty years (D) thirty years

“The Woodrose” is ashort story by

(A) Sargjini Naidu (B) R.K. Narayan

(C) Abburi Chaya Devi (D) Ruskin Bond

Who cut down the woodrose creeper in the short story “The Woodrose” ?
(A) the gardener (B) the son
(C) the daughter-in-law (D) the narrator herself

Who is the narrator of “The Woodrose”?
(A) alittlegirl (B) an old woman (C) ayoungwoman (D) aboy

Who is the author of the short story “The Photograph”?
(A) Ruskin Bond (B) Dilip Chitre (C) R.K. Narayan (D) Premchand

What had the narrator’ s mother brought out from the attic in “ The Photograph”?
(A) abox full of toys (B) afamily album
(C) abundle of old clothes (D) abox of old books and family heirlooms

How did the little boy know that the wicked girl was his grandmother in “ The Photograph”?
(A) from the same smile that was still there on her face

(B) from the caption of the photograph

(C) from his mother

(D) his grandmother admitted herself

What is the adjective form of peace?
(A) peacefully (B) peaceful (C) violence (D) violent

The noun form of dark is
(A) darkness (B) darken (C) dark (D) darkened

Choose the synonym of sorrow.

(A) borrow (B) cry (C) joy (D) grief
Which of the following is an abstract noun?
(A) fear (B) boy (C) chair (D) school
I dentify the preposition from the following.
(A)is (B) without (C) where (D) the
3 Turn Over
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32.

33.

35.

36.

37.

38.

39.

40.

41.

42.

43.

45,

1211

What is the synonym of dreary?

(A) lively (B) joyful (C) dull

Which of the following words is related to cooking?

(A) sautéed (B) strewn (C) tickled
Choose the adjective form of mess.

(A) massy (B) mass (C) messy
What does beckon mean?

(A) cal (B) afood item (C)cry
The opposite of demolishis

(A) sl (B) buy (C) destroy
Theword aerial is derived from

(A) aroma (B) air (C) aura
What isthe verb form of terror?

(A) terror (B) terrorist (C) terrible

Thirst isto water as
(A) diet

isto food (fill in the blank).
(B) hunger (C) nutrition

Change to passive voice: No one feels our pain.
(A) Our painisfelt by none.
(C) Someone feels our pain.

The antonym of seldomis

(A) never (B) sometimes (C) rare
Choose the noun form of miserable.

(A) miser (B) misery (C) miserably
The opposite of fatigueis

(A) tiredness (B) laziness (C) energy

What is the meaning of the phrase curt truthfulness?
(A) blunt honesty (B) sweet words
(C) afraid of telling the truth (D) assurance

| remained silent. —Replace silent with another word.

(A) still (B) quiet (C) polite
Choose another word for affectionate.
(A) angry (B) loving (C) annoying

4

(D) bright

(D) festival

(D) mess

(D) apot

(D) build

(D) none of these

(D) terrorise

(D) taste

(B) Everyone feels our pain.
(D) No pain isfelt by us.

(D) often

(D) miserly

(D) courage

(D) gentle

(D) false
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46. What is the verb form of creeper?

(A) creepy (B) creep (C) cremate (D) creek
47. ‘“Whose pictureisit? | asked. —Convert the sentence to indirect speech.

(A) | asked whose pictureisit. (B) | asked whose picture it was.

(C) | asked that whose picture it was. (D) | asked that whose pictureisit.
48. | slept (choose the appropriate adverb).

(A) slowly (B) loudly (C) soundly (D) heartily

49, The opposite of silenceis
(A) noise (B) silence (C) silencer (D) quiet

50. A suitable synonym of ‘classic’ is

(A) colossal (B) old (C) archetypa (D) fanciful
OLD SYLLABUS
ATTEMPT ALL QUESTIONS 1x50 =50

1 The short story, The Monkey' s Paw was written by

(A) John Milton (B) William Shakespeare

(C) Rabindranath Tagore (D) W. W. Jacobs
2. In the story, The Monkey’s Paw, Mr. White and his son were playing

(A) chess (B) football (C) cricket (D) badminton
3. The name of Mr. White's friend was

(A) Mr. Williams (B) Sergeant-Mgjor Morris

(C) Mr. Johnson (D) Mr. Selkirk
4. The magic spell on the monkey’ s paw was put by

(A) God (B) adoctor (C) an Indian fakir (D) amoney lender
5. How many wishes could the monkey’ s paw fulfill?

(A) three wishes each for three persons (B) two wishes

(C) one wish for one person (D) four wishes each for four persons

6. The first wish of the White family was

(A) to go on along vacation (B) to get anew house
(C) to get two hundred pounds (D) to get gold

7. The company Herbert worked for was called
(A) Standard Chartered (B) Maw and Meggins
(C) Larsen and Toubro (D) Microsoft

1211 5 Turn Over
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8. The Cop and the Anthem was written by

(A) O. Henry (B) Lewis Caroll

(C) Emily Dickinson (D) Coleridge
0. In the story, The Cop and the Anthem, Soapy was sitting in

(A) Dahousie Square (B) Trafalgar Square

(C) Madison Square (D) Santosh Mitra Square
10. During the cold winter months Soapy wanted to take shelter in a

(A) hospital (B) school (C) hotel (D) prison
11. The place where Soapy wanted to go was situated in

(A) Blackwell’s Island (B) Berlin

(C) London (D) Paris
12. Soapy tried to steal

(A) acar (B) an umbrella

(C) apair of shoes (D) agun

13. Soapy changed his mind upon hearing
(A) apop song in the church (B) the speech of apolitician
(C) an anthem from the church (D) astory from his grandmother

14.  Thedeath penalty as a sign of the times? is written by

(A) Barun Sengupta (B) Sunanda K. Datta Roy
(C) Aparna Sen (D) Santosh Desai
15. Y akub Memon was
(A) rewarded (B) hanged
(C) set free (D) none of these

16. Death penalty cannot be a mode of punishment in a country that calls itself

(A) funny (B) excited (C) tired (D) civilized
17. The poem, Death be not Proud was written by

(A) John Donne (B) Isaac Newton

(C) Maharshi Vamiki (D) P.B. Shelley
18. The poet says that some people consider Death to be

(A) Weak and tired (B) Silly and proud

(C) Mighty and Dreadful (D) Happy and excited
19. Death isadaveto

(A) night (B) fate, chance, kings and desperate men

(©) joy (D) beautiful women

6
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According to the poet, Death shall die when

(A) we go on a holiday (B) God gets angry

(C) Satan fights against God (D) One short sleep past, we wake eternally
The poem, London was written by

(A) William Blake (B) James Bond

(C) Bruce Wayne (D) Justin Bieber

Theriver that flows through London is called

(A) the Ganges (B) the Amazon

(C) the Thames (D) the Hudson

The marks seen on the face of the people of London were

(A) beauty spots (B) Marks of weakness, marks of woe
(C) Black and blue marks (D) none of these

In the poem, To a Daughter Leaving Home, the speaker teaches the daughter
(A) torideabicycle (B) to do algebra
(C) to cook ameal (D) to clean the car

The flapping of the daughter’s hair is compared to

(A) an apple (B) atoy (C) ahandkerchief (D) abanana

The synonym of manaclesis

(A) chains (B) hell (C) biscuit (D) air

Woe means

(A) him (B) sorrow (C) fright (D) entertainment

The opposite of bright is

(A) watery (B) dull (C) yellow (D) unearthly
Penalty means
(A) aparty (B) adancedrama  (C) afilm (D) punishment

The past tense of screamis
(A) screamed (B) screaming (C) shout (D) laugh

The appropriate antonym of death is
(A) enchantment (B) life (C) freedom (D) honesty

Whét is the meaning of wander?
(A) river (B) kick
(C) thirst (D) to move around aimlessly

The noun form of proud is
(A) kindly (B) pride (C) nervous (D) jedlous

Turn Over
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The antonym of pleasureis
(A) dishonesty (B) rudeness
(C) politeness (D) pan

The opposite of cold and wet is

(A) adark spot (B) child and man

(C) hot and dry (D) apainting

| eat my hand.

(A) with (B) along (C) on (D) within

The adjective of anger is
(A) danger (B) fun (C) angry (D) water

The present tense of stood is
(A) stub (B) stand (C) under (D) wish

Which prefix would you add to usual to form its antonym?

(A)im (B) de (C) over (D) un
Mr. Roy walked the room.
(A) into (B) over (C) without (D) merry

The adjective form of eternally is

(A) neglect (B) nuisance (C) eterndl (D) poverty
Thedog ran his master.
(A) on (B) to (©in (D) of

The antonym of agreeis
(A) wise (B) disagree (C) miserable (D) energy

The adjective of restlessly is

(A) rest (B) rude (C) impatient (D) restless
The adverb of joy means
(A) graceful (B) joyfully (C) horrifying (D) nonsense

Identify the adjective in the line: Elizabeth Bennet was not exactly beautiful.
(A) Bennet (B) exactly (C) beautiful (D) none of these

The noun form of marvellousis
(A) marvel (B) mar (C) most (D) mart
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48, A synonym of argument is
(A) understanding (B) debate (C) composition (D) thought

49. The present tense of undertook is
(A) undertake (B) under (C) taking (D) misunderstand

50. The verb form of pictureis
(A) painting (B) picturise (C) pretty (D) imperfect

N.B. : Sudents have to complete submission of their Answer Scripts through E-mail / Whatsapp to their own
respective colleges on the same day / date of examination within 1 hour after end of exam. University /
College authorities will not be held responsible for wrong submission (at in proper address). Students are
strongly advised not to submit multiple copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY

B.A. Honours/Programme 1st Semester Supplementary Examination, 2021

PLSHGEC01T/PLSGCORO01T-POLITICAL SCIENCE (GE1/DSC1)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfeE T F0Z Yo Q"Y/VW fac Fed1
Candidates should answer in their own words AT [NCST ©IRNF TR T AT AT M
and adhere to the word limit as practicable. s R

I. Answer any ten questions from the following: (Within 30 words each) 2x10 =20

foaferiie @-@I w5 et Tea wies (2o wo *itwa )

(i) Explain the meaning of Politics.

Ao e S |
(i) What do you mean by approach?

wfrefm o f 7

(ii1) Define democracy.
NTOCE] | wS |

(iv) What is direct democracy?
2o Slfod FeT0o 6 @I ¢

(v) What are the conditions for the success of democracy?
NTSCTR AP *S F 9

(vi) Define liberty.
FIFTOI IR TS |

(vil) What are the two forms of equality?
G 90 ol 6 9

(viii) Mention the basic features of equality.

A (Nfere (afErefe Ty we

(ix) What do you mean by social justice?

Aife T FeTce F @I 9

(x) Define Justice.
IR ReR| wle |

(xi) Define Rights.
RIERCE R R

1132 1 Turn Over
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(xi1) What is Right to Resistance?
ef ol o & 9

(xiii)) Mention the basic features of patriarchy.
forgora o1 (A% Srar Tl
(xiv) What is the meaning of censorship?

cERmEeR o [ 9

(xv) Define Economic growth.

st e o efiget s

2. Answer any three questions taking one from each module: 10x3 =30
(Within 350 words each)

2fsfG wfeTs T 96 F@ 2 A i foafe aitsa Tex nies
(2B weo *Itw= )

MODULE-I

(a) Discuss the concept of Politics.

Arerinon e i e

(b) What is political theory? What is its relevance?
qEfoT ©g 00 & @Il ¢ @3 epTEel & ¢

MODULE-II

(c) What is Democracy? Discuss the nature of democracy in a modern state.
9iIoF PP A0 9 YT ANCG MTOCE &P G I

(d) Analyse the relation between liberty and equality.
AR @ FIFTOIF T2 A S |

MODULE-III

(e) Is democracy compatible with economic growth?

sferod fF Ao TR MR ANGo)f ¢

(f) Discuss whether the state can intervene in the institution of family.

g 5 277 AW Al BT FA00 2N 2

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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WEST BENGAL STATE UNIVERSITY

B.Sc. Honours/Programme 1st Semester Supplementary Examination, 2021

PHSHGEC01T/PHSGCORO1T-PHYSICS (GE1/DSC1)

Time Allotted: 2 Hours Full Marks: 40
The figures in the margin indicate full marks. aNfer T F0Z FIMo Q"Y/VW fac T
Candidates should answer in their own words AT TS ST I AT AN N
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

GROUP-A
1. Answer any ten questions from the following: 2x10=20

fsERkRe @-ie ™I arss Teq wiss

(a) What do you mean by Scalar triple product and vector triple product of three
vectors?

CETIE (04 @l G (93T (94 @ @109 & @Il 9

(b) o(x, y, z)= 2xy* +3x*y+xz® is a scalar function. Find the magnitude and
direction of V¢ at point (1, -1, 2).
o(x, y, 2)=2xp* +3x°y + xz* QI FAR SAFF) (1, -1, 2) e Vo-a3 N
@ wfey 3 s

(¢) Show that the vector A = (x+3y)i +(y—2z)j+(x—22)k is solenoidal.
A8 @ A= (x+3y)i +(y—2z2)]+(x—22)k (3% AfTITIE

(d) State the principle of conservation of angular momentum.
e SaCacor FRael e el e

(e) Show that the angular momentum of any particle moving under a central force is
conserved.

WA @ (W™l &1 (0 (I oMet Felia (@l Sh0=9) TS 2
(f) What is meant by time integral of force?
A e TN F 9

(g) Determine whether the force field F=2zxi+ (x? - y)j'+ (2z—x* )13 is
conservative or not.
F=2zxi+(x* =) j+ 2z —x%)k 45 M 367 0% el @51t S

(h) A couple of 10° dyne-cm is applied to a fly-wheal of mass 10 kg and radius of
gyration 0.5 m. Find the resulting angular acceleration.

10 kg ©&EF @R 0.5 m 5o AFNETE 6 F12-2357 10° dyne-cm 7% & 41
2 (@ w@et el s
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(1) Write four uses of GPS.
GPS-&3 BI=b 974 el

(j) What is escape velocity?
Y& @R R 7S 9

(k) The equation of a simple harmonic motion is given by x =10sin(607¢ —0.47) cm.
Find the (i) amplitude (ii) time period (iii) frequency and (iv) phase of this
motion.

@36 3e ieTaifod FNFA x =10sin(6077 — 0.47) cm | 943 (i) T (i) “fwra
(iif) F™11F @R (iv) 2TF 7t el e
() Show that Poisson’s ratio lies between —1 and % .
AN AN, S AGACS T —1 (AF L = 7oz AF |
(m) Find out the dimension of Young’s modulus Y.
&3 welleE gl ek e

(n) What is momentum of a particle in relativistic mechanics? Show that it reduces to
the form of momentum in Newtonian mechanics for small velocities.

e FF Mfoore @9 I8 SAE9 IO o[ 2 A8 @ Tweifea cvrg aa F0fS Soocaa

foSTE SRR HPF A wfeq @)
GROUP-B
Answer any fwo questions from the following 10x2
fmfefie @-@E Z/% ATH Ted IS

2.(a) Show that AX(BxC)+Bx(CxA)+Cx(AxB)=0.
A8 @ AX(BXC)+BX(CxA)+Cx(AxB)=0
(b) Find the angle between the two vectors given below.
(837 767 SrefHIRe @R W+ e S|
A=3i+22j—6k and B=4i -3j+k
(c) What is work energy principle in mechanics? Prove the principle.
sfoerg & Toeim [ge @ afow @

(d) Prove the Newton’s third law of motion from the principle of conservation of
linear momentum.

CARCR FRFH N (AT WEhaa word sfovait ese Tl

3. (a) Define angular velocity of a particle. Show that the rate of change of angular
velocity with time of a particle is equal to the torque acting on it.

@ I T @R M w8l @AS @ @ I @IF @O AN A
AT (1a 27 3217 Tod [FTNel B I+ |

(b) What is the difference between inertial and non-inertial frame of reference?
TUER GR TG T SrE e AL F 9

(c) What are the order and degree of a differential equation?
SR HaPA-a3 (FCq WGl (order) @ A (degree) IETCS & @GN ¢
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4. (a)

(b)

(d)

5.(a)

(b)

(©)

1130

An artificial satellite is revolving round the Earth very near to surface of the
Earth. Prove that its speed of revolution is v = \/g_R where R is radius the Earth
and g is acceleration due to gravity.

a3 Fhew THer 7R Y7 IR ([T AmFEF TR el I, O emEre @,
v=1/gR @ R *RTT L @R ¢ Sfode g7

Is the Gravitational constant is irrespective of any medium? Explain properly.
TR & WA & T fW=eers ¢ i S

Prove that the total mechanical energy of an ideal Simple Harmonic Oscillator
remains constant. Show variation of the kinetic energy and potential energy with
displacement by a graph for a Simple Harmonic Oscillator.

e @, e @ieeifs 7ol @ T @b afes e weifkiEs i) @ we
sfenie ¢ fEfexfe ~faema @Taba = s

The displacement of a Simple Harmonic Oscillator from its equilibrium position

is x :%. Find the ratio of the kinetic energy to the potential energy where A4 is

the amplitude.
@3B e @IS TR 9T AR AREE (QF F x:% 7@ sifodfe @
FEfexies wgsite e e

When a rubber cord is stretched, the change in volume due to change in linear
dimensions is negligible. Obtain the value of Poisson’s ratio for the rubber cord.

@36 ARF-97 IRE G G I I ©IF SRS RIS T Tl @ ARG
AT (Poisson) Site e Tt

Find the work done in producing an extension of 0.1 mm of a wire of original
length 200 cm and cross section 1 mm®. Young’s modulus of the material of the
wire is given by = 2x10'* dyne/cm’.

200 cm M @R 1 mm® 2FEER% R @ OId 0.1 mm g I Face Fo I
FACS T(A 7 (NS AR IR THMITTA 37 @oNF = 2x10'? dyne/cm’ |

What is the law of relativistic addition of velocities? From this law show that
speed of light in any frame of reference is constant.

RS (391 ARG SoioAiwmis 6 ¢ @2 @ (A &N R S Ao & |

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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WEST BENGAL STATE UNIVERSITY

B.A. Honours/Programme 1st Semester Supplementary Examination, 2021

PHIHGECO01T/PHIGCORO01T-PHILOSOPHY (GE1/DSC1)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfeE T F0Z Yo Q"Y/VW fac Fed1
Candidates should answer in their own words AT [NCST ©IRNF TR T AT AT M
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

Answer Question No. 1 and 2 compulsorily and any #wo from the rest

SR @R § R AT T IR Uk SRR (AT @-ICA 415 et Ted wie

I. Answer any ten questions from the following: 2x10 =20

fasfeiie @-cpiea 7o alces Ted nies

(a) What is meant by ‘quality’ and ‘quantity’ of categorical propositions?
ol IR ‘@ 8 AR I F @RI 2

(b) What is meant by ‘distribution of terms’?
P O] 0o F QRN 2

(c) Name the different types of opposition of propositions.
W fRcaifzrete [ien ewmefm @

(d) Convert the following proposition.
All flowers are not fragrant.
R T Aol W — bAoA SO AN |

(e) Is simple conversion of A proposition possible?
‘A’ IR FRE S8 fF B 9

(f) Distinguish between sentence and proposition.
31T @ IR N AL RS |

(g) ‘Only the members are voters’. Give the logical form of this statement and state
which term is distributed.

‘T IMRIR (eitviel — AR FEReTTTe Fo wie @R (@6, AW i
IR RGN

(h) What is null class?
HParS @M F 9
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(1) Express the following sentence in Boolean notation and draw Venn diagram:
All non-s are p.
fferis A ey forfsice e sl g cexfbe (raies
NP H-s W pl

(j) If an argument has three statement variables, how many rows will be there in the
construction of its truth-table?

T @3 fere o I5e ez ATE, SIFE O A 15 FTH AR A 9
(k) Use truth-table to define the logical connective ‘v’.
FePIRAR @il (e @EF -7 IRE| 78|

(I) If 4 and B are false, x and y are true, what is the truth-value of the following?
T 4 @R B [ 27, x @R y 9y R, Ol faHferie amta Toren 2w ¢
~[~(4-x)-(yv~B)]
(m) Ifp is false, then determine the truth, value of (pv~p)vr.

T p - =7, SR (pv~p) v r -a3 ey diwe Fa@t

(n) What are the names of valid moods of syllogism in first figure?

TR 22l FRECR @feeim am o

(o) Give an example of ‘Fallacy of four terms’?

piffemaite Mitea @b Twizdd nie |

(p) What is meant by ‘existential fallacy’?
ST (IR FICE A 9

(q) What are the different types of figures in categorical syllogism?
fereors wicae f[fen aem wemel & & ¢
(r) Show the symbolize form of Mill’s Method of Agreement.
fAcera o dl Aafon ASfoT FE (e
(s) Represent ‘Ghost do not exist” by Venn diagram.
P (W2~ (TAbCT RS FCal |
(t) If ‘A’ proposition is true then its corresponding Eis ~~ ,Iis  ,Ois
IM A’ AN W ORGAEIDS [/ @R O/ TA|

2. Write short notes on any fwo from the following:

fesferfis Q- 7fog o skEre Bt creals

(a) Opposition of Proposition.
ECERNGIEO

(b) Rules of obversion.
RS fazmiie |

(c) Boolean interpretation of Categorical Proposition.
BRI CE R GIRACEIN

1129 2
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3.

6.

(d) Fallacy of illicit minor and illicit major.
Y S (M1 8 WY A (|

Test the validity of the following syllogism or syllogistic forms by means of Venn 5x2 =10
diagram.(Any two)

CeAbeas MR WHEIRS i A TR (k! [Ro w6 (@ @I 715)
(a) AAl—1V.

(b) Some scientists are Philosophers, since some mathematicians are philosophers and
all mathematicians are scientists.

g Rl nixfoes, @y g oifdew wffas @ s sfdes =1 @i
(c) EAE — 1.

Test the validity of the following with the help of truth table. (Any two) 5x2=10
TePRAR TR ([l R Tl (@ @I 715)

(a) ADB

BoA/.:.AVvB.
(b) [PD(ODR)|D>~Q /. ~P
() (~p>~q)p, pvql.~q

Use truth-tables to determine whether the following statement forms are 5x2=10
tautologous, self-contradictory or contingent. (any two)

ffefie waskefs Fome, at gofien o wivfes -  ©f Sopiag ey Ff
I (@ I 715)

(@ [p2(g>p)]>[(gDq) >~(ror)]
(b) p=~(~pv~p)
(©) (pvg)>~(~pvq)

Explain and illustrate Mill’s method of difference. 6+4 =10
T o ofmte I ¢ R el

N.B. :Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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WEST BENGAL STATE UNIVERSITY
B.A. Honours/Programme 1st Semester Supplementary Examination, 2021

JORHGECO01T/JORGCORO1T-JOURNALISM AND MASS COMMUNICATION (GEL/DSC1)

Time Allotted: 2 Hours Full Marks: 50
The figuresin the margin indicate full marks. fifes JFT GZ TG 20T e T 1
Candidates should answer in their own words NI [T @RI RN TG AT N
and adhere to the word limit as practicable. Ges FRE |
1 Answer any five questions from the following: 2x5 =10
EfeTe @-IE 766 2tiR ed @Al
(8 Newswriting follows the style of
(i) Story writing (i) Feature writing
(i) Column writing (iv) Inverted pyramid
FRAM foT4e (@ (el SRl I, ©f 2N
(i) GBIt forae (i) fFoiz forae
(iii) TN fovee (iv) S0 PRifre Sife
(b) Anchor stories are the
(i) Hard News (i) Soft News (iii) Feature (iv) Article
wiER Eoifa s
(i) 2 fasw (i) 375 f%& (iii) o (iv) =nfocs
(c) Thefirst Penny Press newspaper came to the market on
(i) July 24, 1830 (i) June 23, 1830
(iii) June 25, 1830 (iv) duly 26, 1830
2203 (oife (20T TE WCo
(i) TETI2 28, Sb9o (i) G 29, S9o
(iii) g ¢, Sbrvo (iv) TEI2 R b, Srwo
(d) Another name of Tabloid Pressis called
() Green Journalism (if) Gonzo Journalism
(ii1) Gutter Press (iv) Mini Printing Press
BIIRETRIG (I ) =1 ZCel
(i) 3 kAol (ii) 2=cet ARl
(iii) o= c2 (iv) i fifBe e
1124 1 Turn Over
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(e) Celebrity News often pertainsto

() Page 3 reporting (i) Yellow Journalism
(iif) Women Issues (iv) None of these
FED FRITE oL 7@
(i) iR A wmel (i) Ze% ARl
(iii) T RFE [Ty (iv) B =
(f) The measurement of Tabloid Newspaper is
(i) 19' x 26" (i) 24' x19'
(iii) 25' x 26" (iv) None of these (1952 71)
BIRETCRTG R Amolcas) Aifasisl 2cel
(i) 5" x3v” (i) 28" x 55 "
(i) " x 3y " (iv) bE =
(9) Inverted Pyramidisa
(i) Style of Newswriting (i) Triangle which isinverted
(iii) Fair writing (iv) None of these
TC0! oIt =eet
(i) 9F 403 feTe (et (i) Col faee
(iii) Afera= (iv) @b
(h) A bylineis

() Reporter’ s name printed with news

(i) Text written on theline

(iii) A news of two lines

(iv) The line containing newspaper’ s name

qIZeNZ =M
(i) AR ¥ 72 474 (ii) ZCT TICF @11 9
(iii) 72 *N2Ce ¥ (iv) Q@ FEC FRAMCGH TN AT

(i) Citizen Journalism means
(i) Ethical and Professional Journalistic Practice
(i) The reporting of local community news and events
(iif) Newspaper engaging the community in their reporting of important issues
(iv) None of the above
b eeiferers 2@
(i) o= @ comimis Aol
(i) 19 BT =i 2 ey Aol
(iii) ARIAFOR A FT F2RCE & F
(iv) Toica i T
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(1) A brief Introduction of a Photographis called

(i) Embargo (if) Credit line (iii) Caption (iv) None of these
FCHIECERa 361 A ACE, SIS 61 =
(i) @@t (ii) TG =1z (iii) =i (iv) @2 T
2. Answer any four questions from the following: 10x4=40

feaferiie @-I! 5176 2lte Tes mies

(8 What is News? Briefly describe the elements of news. 4+6
FRIM FICE A0 9 IR G FRCHC! S S |

(b) What are the basic differences between the print, e ectronic and online Journalism? 10
Wl S, (Ao M @ Seaties Ao Al wiEwa Tl

(c) What do you understand by objectivity of news? Discuss the relevance of 6+4

objectivity in today’s journalism.
TR IBfTTO! 0 [ @I 9 TBFTDR el aosw TRtfrrer & Siitg acat T
IA?

(d) What do you understand by Yelow Journalism? Discuss how and where it was 4+6
initiated.
Zo7 A e ARATFe! 76700 & QIR 9 93 Teolfe @I it RiRe S S

(e) Describethe role of Mediain democracy. 10
slefera G S Siceba! Sl |

(f) How to organise a news story focusing on 5W’s and 1H? Describe the principles 6+4
of news selection.
5W’s and 1H-93 &% fofe I [Feirm :am At 27 ¢ 73w RS F99 ifowf
ST TN

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Sudents are strongly advised not to submit multiple copies of the
same answer script.
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WEST BENGAL STATE UNIVERSITY

B.A. Honours/Programme 1st Semester Supplementary Examination, 2021

HISHGECO01T/HISGCOR01T-HISTORY (GE1/DSC1)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate marks of question. aNfe T 0Z 7405 Qs ot
Candidates should answer in their own words AT e IR I TG AT N
and adhere to the word limit as practicable. Geq e 291

GROUP-A / es-=

1. Answer any ten questions from the following: (word limits 30) 2x10 =20
foafere @-Ie 75 eltax Tex mies (sl ©o)
(a) Mention two ‘prashastis’ written by court poets and the kings eulogised by them.
AR ¥ T FE HOF R Abe 76 @R AIca I
(b) What was the significance of the Great Bath of Mohenjodaro?
MG MIER 28 TN Seor F faet 9

(c) What is the historical importance of the two epics, the Ramayana and the
Mahabharata?

AN @ RSO T 767 @feRhF @y 9

(d) What are the ‘Three gems’?
‘fazw F 9

(e) What were the functions of the Dharmamahamatras during the Mauryan Period?
G oot «f SRMGE FIEFent St fow 9

(f) Who was the greatest ruler of the Kushan dynasty? Where was his capital located?
A REF TR A (& oo 9 O AT @I e 9

(g) Who introduced the ‘Saka’ era and when?
(&, I A Yol-97 Ipal FERTRE ?

(h) Who was the first king of the Satvahana dynasty? Were the Satvahanas also known
as Andhras?

Aredied R 2N e (@ 2eere ¢ ofal & o Fice #Afive fxem 9
(1) Who was the greatest king of the Satvahanas? How did he get his name?
AT (&Y A & foree ¢ fofv win i FeiE erimfae™ ¢

(j) Which natural phenomenon discovered in the first century C.E. favoured the
growth of maritime trade between India and Rome?

B 2L *forF HiFe @ AFToT Wl OFedd 8 @GR W& s ey e
TS AQ FCEMR 2

1121 1
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(k) Which language was used in the Sangam Period? What was its importance?

I o (I S IR Tl 200! 9 G99 ¥Fg Bl (2T 9

(I) What was the traders’ guild called during the Sangam period?

s ool A AT 6 <@l 2o 9

(m) Who wrote ‘Milindpanho’ and why?

&, @ ‘e’ o FERE ¢

(n) Distinguish between Mahayanism and Hinayanism in Buddhism.

(Fade Bl @ QA 3w Wy 2Ny ot weai

(o) Mention the names of two Bactrian Greeks.

1121

WG PPA AGI A SCad P |

GROUP-B / fTeia-2

Answer any fwo questions from the following (word limits 250)

feafeiiie @-IEt 75 @tid Ted me (w3l 1eo)
Write a short note on Microlithic tools.

FRAIR SR $oiF @36 Bt @Al

Determine the extent of the Harappan civilization.
2l FTerela Rgfe fdfae sl

Write a short note on the ‘varna’ system in the vedic period.

APEME YR I G TE @0 WY DI @

Who was Chandragupta Maurya?
wed (Y & & 9

Did Pushyamitra Sunga’s revolt against the Mauryas signify Brahmanical reaction?

G Reerm =@fie e Roareee § qrearRm afsfel @ 5o ¢

GROUP-C / eial-4t

Answer any fwo questions from the following (word limits 500)

femferie c-caiel 75 et Ted wis (1w 3iisl ¢oo)

Discuss the importance of literary sources for understanding the political, economic
and social history of ancient India.

2B Sied AeAtes, AT 8 ANET oA @RI T ARfGF TowitR
PG T FCAIN

5x2=10

10x2 =20



CBCS/B.A./Hons./Programme/1st Sem./ HISHGECO01T/HISGCORO01T/2021

10.

11.

1121

Examine the problem of locating the original homeland of the Aryans.

e Wi AR ool FiEe Tl =i s

Discuss the social, economic and religious background of the rise of protestant
religious movement in ancient India.

2B SRre 2AfeqiRl (Sitwie ST €Iid AN, Tt @ 4T @ s
N

How far was Ashoka’s ‘Dhamma’ influenced by the tenets of Buddhism?

SN 40 Fof (@mucia Mfeek 7@ aeie @ ¢

Assess the political and cultural importance of Kanishka’s rule in India.
SIRGIE FIER AP AGANST € TGOS ST JeI I |

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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WEST BENGAL STATE UNIVERSITY

B.Com. Honours 1st Semester Supplementary Examination, 2021

FACHGECO01T-B.CoMm. (GE1)

BUSINESS ECONOMICS
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z FIMo Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR T AT AT M
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10
fafeiie -l #fipfe @ltss Tee wiss
(a) What is consumer surplus?
(OI03g8 FICE qCeT 2
(b) Define Giffen good.
RIS R:(CIERINCG RO
(c) State the law of demand.
vifenta @i Ko wat
(d) What is indifference map?
e e & 9
(¢) What is income effect?
I A FICF 0T 9
(f) What is marginal revenue?
2T SR I 0T 9
(g) What is price discrimination?
VIS S99 P A 9

(h) Write the full forms of GDP and GNP.
GDP '8 GNP-4 7J(dl *I% (s7¢M |

2. Answer any four questions from the following: 5x4 =20
fasfrie - e eloss Tes nies
(a) Distinguish between ‘change in demand and change in quantity demanded’. 5

pifena sifdas e ¢ vifgnia v “Rstg Sy 14w @l
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(b) Discuss the basic features of indifference curve. 5
TR RRERIR e Rgefer Sl el
(c) Derive the relationship between marginal revenue, average revenue and price 5

elasticity of demand.

2ifeF o, ofe Wi 8 BifEniz wiwere FEferrrer Wi wol Mol Fan

(d) Distinguish between real GDP and nominal GDP. 5
#F© GDP € WifiiF GDP-9d W1y e @

(e) Why is the short-run average cost curve ‘U’ shaped? 5
FHEP 91 T @ U WFfod 2 @ 9

(f) Distinguish between demand pull and cost push inflation. 5

vifenl Jfareiae JurFls © a1 Jfareiee ErFfon sy =1 @l

3. Answer any two questions from the following: 10x2 =20
fasfie @-ce 76 eivsw Teqwie:

(a) Distinguish between perfectly competitive market and monopoly market. Discuss 3+7
how the equilibrium price is determined under monopoly market.

A efSrMerT ITT ¢ GFEHA ASE T 2N G GFEHA ASE
oI TR O i SdiRe T 2 SeEsal S

(b) What is circular flow of income? Discuss the production method of measuring 4+6
national income.

IR SRS FICEF 0T 9 TR O AN SeAM 2l (b SAICb] S|

(c) Discuss the concept of Keynesian theory of demand for money. 10
S bifEnl eiFe SR wred Al SiEmal S
(d) What is inflation? Discuss the monetary measures of controlling inflation. 10

TEFRIS I e 2 RIS fae sifdle smfoef s st

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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WEST BENGAL STATE UNIVERSITY
B.Com. Programme 1st Semester Supplementary Examination, 2021

FACGCORO02T-B.Cowm. (DSC2)
PRINCIPLESAND PRACTICE OF MANAGEMENT

Time Allotted: 2 Hours Full Marks: 50
Thefiguresin the margin indicate full marks. efifer T GZ TG 2T e T 1
Candidates should answer in their own words AN A0S @R T FET TN T
and adhere to the word limit as practicable. e FEE |

All symbols are of usual significance.

GROUP-A / <etd-5

1. Answer any five questions from the following: 2x5=10

e @-@iE 25T 2via Tea nies

(8) Define Management.
JREANE TR WS |

(b) What is*“Staffing”?
T e 790 & @i 9

(c) What are the levels of management?
7R Kfon waef i 9

(d) What isPlanning?
AT I [ QI 9

() What do you mean by MBO?
MBO IF FCeT 2

(f) What is Organising?
TR FICF 0 9

(g) Define*“Span of Management”.
EIR A& S 0T 9

(h) Define “Control”.
e ke e

GROUP-B / faeta-2

2. Answer any four questions from the following: 5x4 =20

el @-@El bigfe 2tsw Teg wie:

(a) Define“Leadership”. Discuss the types of Leadership.
(TO0eR R WIS | ST 403 (Tored A1y e |
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(b) Discuss the functions of Management.
PRI FIARE 17 T

(c) Explainthe different types of plans.
ffen «@ea “ffFsa 79I i

(d) Discuss the steps of control.
ferraCer istefer SicsTd= el

(e) Discuss theimportances of directing.
CICTR &Py STl |

(f) Describethe“Leadership Traits’.
(TOCGR RN I FCA |

GROUP-C / etat-af
3. Answer any two questions from the following: 10x2 = 20

fersferiie @-wie 75 elcse Tea wies
(8) Define Motivation. Explain the Maslow’ s theory of Motivation.
SR el 7ie | I Selideacd wglt T FeEi |

(b) Define “Delegation” and “Decentralization”. Differentiate between Delegation
and Decentralization.

FS(GA OR-I5f 4R R Iael F10s 1 @I 2 @2 7531 S ALy (rane |

(c) Discuss the contribution of Fayol to the development of management.

JIEI7NE AN (TR SR SACEAG! FCA |
(d) Discussthe elements of Delegation of Authority.
FETE ©IF-THela SIS Scasa Tt

N.B. : Sudents have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Sudents are strongly advised not to submit multiple copies of the
same answer script.
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B.Com. Programme Ist Semester Supplementary Examination, 2021

FACGCORO01T-B.CoMm. (DSC1)
FINANCIAL ACCOUNTING-I

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z TN Q"Y/VW fac Fed1
Candidates should answer in their own words AT [NCST ©IRNF TR T AT AT M
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

GROUP-A
Answer any fwo questions from the following 10x2=20
fmferiie @-@e 76 @oiw Tea me
1. (a) What is ‘going concern concept’? 2x5=10

“BeTI A SDI TGS LiFel i 9
(b) What do you understand by ‘Accounting Standard’?

‘AR S ToTce [ QI 9
(c) State two advantages of Single Entry System.
aFege! wiiRe Aafod 7 Rl Srae st
(d) What do you mean by Consignor?
bietiel SRR IETCS 6 @AM 9
(e) What do you mean by Capital Reserve?
I SO AR =109 fF @ACH ¢
2. The store house of T Ltd. caught fire on 15™ June, 2018. Records saved from fire 10
showed the following particulars:
Stock at cost on 1% January, 2017 60,000
Stock at cost on 31* December, 2017 88,000
Purchases less Returns for the year 2017 5,68,000
Sales less Returns for the year 2017 7,20,000
Purchases less Returns from 1* January, 2018 to 15™ June, 2018 1,80,000
Sales less Returns from 1% January, 2018 to 15" June, 2018 2,46,000

Gross profit had remained at uniform rate. The stocks salvaged were worth
Rs. 7,200.

The store house was completely insured. Show the amount of insurance claim for
loss of stock.
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3. (a) ABC Ltd. provides you the following records and transaction for the year 2017-18:

(b)

1114

Balance of Sundry Debtors on 01.04.2017
Balance of Sundry Creditors on 31.03.2018

Credit Sales

Credit Purchases

Cash received from Debtors
Cash paid to Creditors
Cheque issued

Cheque received

Bills received

Rs. 1,22,000

Rs. 1,16,500

Rs. Rs.

2,12,000 Bills Accepted 17,250

1,82,500 Discount Allowed 15,600

1,25,400 Discount Received 9,800

1,12,500 Bad Debts 6,500

52,750 Returns Inward 4,000

45,600 Returns Outward 8,200
12,000

Prepare Sundry Creditors Account in the General Ledger of ABC Ltd.
Write a short note on Provision for Bad Debt.

PR &) SRS B T2I @36 W Bivl =l

GROUP-B

Answer any fwo questions from the following

e -l 7f5 e Tea we

Following is the Receipts and Payments Account of the Students Aid Society for

the year ended on 31.03.2018.

Dr. Cr.
Receipts Rs. Payments Rs.
To Opening Balance: By Salaries 3,000
In hand 380 | By Electric Charges 600
At Bank 1,620 | By Printing and Stationery 400
To Subscription: By Help to Poor Students 5,000
For 2016-17 500 | By Furniture (Purchased on | 3,000
01.10.2017)
For 2017-18 12,500 | By Defence Bonds 4,000
For 2018-19 1,000 | By Closing Balance:
To Entrance Fees 1,500 In hand 750
To Interest on Investment 500 At Bank 2,000
To Sale of old Newspaper 750
18,750 18,750

On 1% April, 2018 Assets of the Society included investment in 7.5% Govt.

Securities of Rs. 10,000 and Furniture Rs. 2,000.

Additional Information:

(1) Subscription for 2017-18 collected in 2016-17 for Rs. 1,250.
(i) Outstanding Subscription of 2017-18 Rs. 850.

(ii1) Interest due on defence bond is Rs. 200.

(iv) Rate of depreciation on Furniture is 10% p.a.

(v) 50% of Entrance Fees are to be capitalised.

2

15%2=30
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6. (a)

(b)

1114

Prepare Income and Expenditure Account for the year ended on 31* March, 2018
and Balance Sheet as on that Date.

Following is the Trial Balance of MIS Radha Traders as on 31.12.2017.

Debit (Dr.) Rs. Credit (Cr.) Rs.

Cash in hand 1,500 Capital 1,50,000
Cash at Bank 12,000 Discount Received 1,500
Building 80,000 Provision for Bad Debt 3,500
Plant and Machinery 75,000 Creditors 35,000
Furniture 50,000 Bills payable 15,000
Debtors 60,000 Gross profit 1,59,000
Rent 4,500
Salary 14,500
Stock as on 31.12.2017 35,000
Discount Allowed 1,500
Advertisement 5,000
Bills Receivable 25,000

3,64,000 3,64,000

Prepare a Profit and Loss Account for the year ended 31% December, 2017 and a
Balance Sheet as on that date considering the following additional information:

i) 4 th ofthe Advertisement is to be carried forward in the next year.
5 y

(i) Salary remains outstanding for Rs. 1,500.

(iii) Depreciation is to be charged @10% p.a. on Building and Plant and
Machinery and @5% p.a. on Furniture.

(iv) A furniture (Book Value Rs. 5,000) was sold for Rs. 8,000 on 31* December,
2017. This was not recorded in the books.

(v) A provision for bad and doubtful debts is to be created @10% on Debtors.

Distinguish between Single Entry System and Double Entry System.
GO MR AT @k W2 OhR WIReN siwfes ey e fefr 31

Distinguish between Cash Basis and Accrual Basis of Accounting.

o fofer qae sthem wwiR fefes afammaac S 2tk o 1

N.B. : Students have to complete submission of their Answer Scripts through E-mail /
Whatsapp to their own respective colleges on the same day / date of
examination within 1 hour after end of exam. University / College authorities
will not be held responsible for wrong submission (at in proper address).
Students are strongly advised not to submit multiple copies of the same answer
script.
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WEST BENGAL STATE UNIVERSITY
B.A. Honours/Programme 1st Semester Supplementary Examination, 2021

ENGHGECO01T/ENGGCORO01T-ENGLISH (GE1/DSC1)

Time Allotted: 2 Hours Full Marks: 50

1113

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

Answer any three of the following questions in about 400 words each 10x3 =30

In what ways would Shakespeare’s Sister be similar to or different from
Shakespeare?

Bring out the significance of the title in Marriages Are Made by Eunice de Souza.

How does the poem Harlem by Langston Hughes reflect the post World War 11
mood of many African Americans?

Discuss the themes of hope, oppression and defiance with reference to Maya
Angelou’s Still 1 Rise.

Critically appreciate Dulce et Decorum Est as an anti-war poem.

In The Ghosts of Mrs. Gandhi Amitav Ghosh describes the courage of ordinary
people in extraordinary circumstances. Discuss.

What are the reasons for which Barthes has criticized toys in his essay?

Critically comment on the significance of the ‘Sunday’ in Imtiaz Dharker’s poem.

Answer any four of the following questions in about 200 words 5x4=20

“Now my belief is that this poet who never wrote a word and was buried at the
crossroads still lives”. Explain with reference to the context.
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10.

11.

12.

13.

14.

1113

Locate and annotate:
Bringing the gifts that my
ancestors gave,

| am the dream and the hope

of the slave.

Explain, ‘Men marched asleep’.

Describe briefly the bus ride in which a possible victim of the riot is saved by the
passengers with reference to The Ghosts of Mrs. Gandhi.

“All the toys one commonly sees are essentially a microcosm of the adult
world...” Explain with reference to the context.

“These
are ways of remembering.” Explain with reference to the context.

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A. Honours/Programme 1st Semester Supplementary Examination, 2021

EDCHGECOLT/EDCGCOROLT-EDuUcATION (GE1/DSC1)
PHILOSOPHICAL FOUNDATION OF EDUCATION

Time Allotted: 2 Hours Full Marks: 50
The figuresin the margin indicate full marks. e ITNT F257 T2 T 0 e
Candidates should answer in their own words A e @R TR FGT AT T
and adhere to the word limit as practicable. Tes FEE |

1 Answer any two questions from the following: 15x2 = 30

fesfeie @-ceie 76 elvss Tea wies

(8 What are the factors of education? Discuss the interrelationship among the  5+10=15
factors.

R Toimimae [ & ¢ (12 Toimimaiem S sie1ds 7o Sicsna s

(b) State the concept of Individudistic and Socidistic am of education. 5+5+5=15
Distinguish between socialistic and individualistic aims of education.

rF e v @ JieellEd TR qFd wie) e Jleel@s ¢ TaeeiiEs
e W ANy Fefm wen

(c) Give the definition of education according to Rabindranath Tagore. What are  5+5+5=15
the contributions of R.N. Tagore towards curriculum and methods of teaching?

RELT oo FrwE wee wie | FEpe sorew 8 R smfen oReT Rmee
IR M [ & 9

Answer any four questions from the following (each within 200 words): 5x4 =20

e @-@ sl aes Tea nies (2fefb 200 *Iit )

(@) Define the term Education.
gl *faiog el wie )

(b) What are the importance of democracy and equity as values in education?
FREFICHE TR RETR oo Ok AR wwEeef & & 9

(c) Writeashort note on ‘gift’ and ‘ occupation’ as stated by Froebel.
FEEE ewe ‘gift’ @R ‘occupation’ -3 B2itF @& b F e Bt @1

(d) Mention the aims of education according to Dr. S Radhakrishnan.
T2 A, AR 0o HEpia o) 6 ol Trwsd el

(e) Differentiate between informal and open agencies of education.
R wfeafEs R T WER g 21y fdad s

N.B. : Sudents have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour
after end of exam. University / College authorities will not be held responsible for
wrong submission (at in proper address). Sudents are strongly advised not to submit
multiple copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY

B.A./B.Sc. Honours/Programme Ist Semester Supplementary Examination, 2021

ECOHGECO01T/ECOGCORO01T-EcoNoMiIcs (GE1/DSC1)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate marks of question. aNfe T 0Z TG QT M [ P
Candidates should answer in their own words AT e ©IRNF I FET SFHNANT &
and adhere to the word limit as practicable. Geq e 291

All symbols are of usual significance.

1. Answer any six questions from the following: 2x6 =12

fsEike @-@iet 276 2eia Ted wies

(a) What is consumer’s surplus?
Toiteleld Tge ¢
(b) What is income effect?
9 &) /F 9
(c) What are the different types of ‘Returns to Scale’?
Wala efons 7 &I € F F 9
(d) Distinguish between ‘short-run’ and ‘long-run’ in production.
TAMC (GG TSI @ AFIER Ty ALy FE@N
(e) Distinguish between Gross Profit and Net Profit.
GG AP € TS TR [ 2l ot s
(f) What is isoquant?
AN (T FIC 0T 2
(g) State the law of ‘Equi-marginal Utility’.
sweifes Teicaifsrer G Sea el
(h) What do you mean by ‘Opportunity cost’?
S W T @I 9
(i) Mention the features of a Monopolistic Competitive market.
GO eferaiTonERe el @izl e Sl
(j) Define Economics.
w¢ifen kel e
(k) State the relation between Average revenue, Marginal revenue and the Price
Elasticity of demand.
% W, &S o @ pifzwg wiw Ffemrrer Wi ot Srad e
(I) What do you mean by Quasi-Rent?
‘F-AEl FeTCe 1 Q@I 9
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Answer any two questions from the following: 4x2 =8
fasfeie @-cee 7 et Teq wies

(a) What are the features of an Indifference curve?
s @R IEEeH T & 0
(b) How can you measure the power of a monopoly firm?
GFTo T 2SN G e [FSIE 2 467 9
(c) Distinguish between ‘Change in Demand’ and ‘Change in Quantity Demanded’.
pifzwid “fies’ @ Bifen sfFwes sfiRaeeEw s 2Ny ot @
(d) What is the relation between Short-run Average Cost and Marginal Cost?
T A 9 T3 8 2T JEA T I 2

Answer any three questions from the following: 10x3 =30
T @-Cieat foaf? eivsia Teg wiss

(a) What is demand function? Explain why the demand curve is downward sloping. 2+8
pifzm Sieerss & ¢ vifwl @2l @ Jifve @ o s fmifea 3 =@, it St
(b) Is the ‘Law of Diminishing Return’ applicable under all circumstances? Discuss 2+8

the three stages of production with diagram.

GIRPTI SR [ & 71Fe] SEY @ltaiey 27 ¢ orad AR Seaiwid fodit
B oA Sl

(c) Discuss the short-run equilibrium of a firm under Perfect Competition. 10
o4 efsrifor cF 36 TR FFFE SIFA NG FC |

(d) Discuss the relationship between short-run and long-run average cost curve. 10
FEFI @ RIS 516 T @ 71D it e

(e) Explain the consumer’s equilibrium using the Indifference Curve approach. 10
TR0 @R AR (ol SR [esed Sl

(f) Explain the Ricardian Theory of Rent. 10

Rlcei Qe welb ScEs 6l

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY

B.A. Honours/Programme 1st Semester Supplementary Examination, 2021

BNGHGECO01T/BNGGCORO01T-BENGALI (GE1/DSC1)

Time Allotted: 2 Hours Full Marks: 50
e ST F47F NG 297 M7 et e
AR [0 @R 7R ST *INNF N2 GG [aee 20
1 ofolb uTe @ W fo 03 2 [N IS 51Ffs @iess Ted mies %0x 8 =80
(*RLY| S{EE w00 ()
OFH-
(F) kA FAfRre Ages Freid Qe ¢ FFS b FCERe 9 ©iF 7 ARE O €+
3o MfRrer @M IR O S S|
4l
(¥) IR AfereR wifngeor AfEre (@maci ereia TR F 9 Sifnger Qe aeiiie 049
ARSI T DA TN
OF -3
(o) I S@Ee Ao el Afere) FoiE fewfers grre ok #fea wie) S0
4l
(}) AREN AfErera oqe S-s I wF o7 e T @ Ny dRiefw Se qabiee S0
(1 I SRR SIS T |
OFF-0
(6) SROYER AR AT TSR (767 “WIRET @70g (IR 9 Go2F 8 Trow- 77| ©+9
TR AWIRENR #1127 S Sl |
4l

(5) *I&»MITT TS I @I 2 AREA NS *Mesmie TeEd Fiees F F o qvem SHo+y
@ MG MTAFIEE SRS FTFE DN S|

aFF-8
(R) A AZCST TR 1T A1 SRHE IR SNEAG FCER SFE ool Frei 949
FRANTTR TEI W (1 I IF AT S|
R
(&) ‘AT’ AN @0 I @IRI 2 92 R 9N 8 9IRF-9F ARG wie) 3+t

1103 1 Turn Over



CBCS/B.A./Hons./Programme/1st Sem./BNGHGEC01T/BNGGCORO01T/2021

R

1103

WY Ted nies @-IC 7o (2 Mo FCI/ReRT SRS S¢o) €x 3 =%

(F) @aaia SeTae o @ ORl 9 ARe Alfere) (@ oo St atgd AN F 9 @2 S+5+3+5+
236 (@I AT (AF &, FE 2P FE 2 =6 T J 9

() SIS IR S-S FRF ST FT FIOIE BT - O T2 IR 7hs | ¢

(7) o2 (JRe 2RI @D & IR AN @0 | S T FF, (@ e @i SERER
TN = 9 ©iF AlfRe) (I ST 720 2

(F) “AF-WNLTIR” 51 I T QI 2 92 AR A7 TR 2167 wie ) 49

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong

submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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B.A. Honours Ist Semester Supplementary Examination, 2021

PLSACORO02T-POLITICAL SCIENCE (CC2)

CONSTITUTIONAL GOVERNMENT AND DEMOCRACY IN INDIA

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z FIMo Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR TG AT M
and adhere to the word limit as practicable. s R

1. Answer any five questions from the following: (within 30 words each) 2x5=10

foafere @-ie =56 2lvem Tex nies (&ifsib wo *Itwa wiey)
(a) How does the Preamble to the Constitution of India define the Indian State?
IO TR BT SIS Mg [Feica il w2l 2R 2

(b) Mention any four freedom as incorporated in Article 19 of the Constitution of
India.

HRRAIER S» R 4R i @F-ICA! b Fi&ola SR Srare e
(c) What do you mean by Uniform Civil Code?

o (rei! KK Te10e & @IeN ¢
(d) Mention two federal features of the Indian State.

OISR G 10 IS (AT 1A

(e) Write two circumstances under which the Parliament can make laws from the
state list.

TR A OifeTeige K@ Sz 2R Fce 7@ @+ ¥ %S e st
(f) Explain in brief the composition of the Inter-State council.

s AIey AAREma 519« FEHC G T

(g) Describe the composition of the Electoral College for the election of the President
of India.

oo T AgHea v niftigeie Fkive Teae s1d= I sl

(h) Mention two areas where the Rajya Sabha is more powerful than the Lok Sabha.
ST ETIFO! S| ST TSI G5 G0 (Fq SCa FCA |

(1) What do you understand by Public Interest Litigation (PIL)?
TRl A TEICS F @I 9
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2. Answer any two questions from the following: (within 100 words each) 5%x2 =10

fasfefe @-crie 76 elvem Teawie: (2fefs soo =it say)

(a) Discuss the two principles of Equality guaranteed under Article 14.
8 R AR Sfafe AR ¥t [ife i< i

(b) Analyse the significance of the Directive Principles of State Policy.
AET Foeges Tfoa siew [ose Tl

(¢) Write a short note on the Finance Commission .
5 FHERCT T @36 R Bl @

(d) Make a critical estimate of Article 356.
Y T HRIGA JEHR FC

3. Answer three questions taking ome question from each module: 10%3 =30
(within 350 words each)
et ST (AT G316 w0 e [ fsfie @~ foafe et Teq nies
(2SS weo =t S)
MODULE-I
(a) ‘Preamble signifies the nature and ideological orientation of Indian State’.
Explain the statement by analysing the Preamble of the Indian Constitution.
‘R O ANEA AFTOCF € IS SREE oo I | V[T 12 FCA
Tfeia 3ol fRee=e T

(b) Analyse the Right to Freedom of Religion as enumerated in the Constitution of
India.

oo W[ e ¥ FifiTor wireRt [Rewed st

MODULE-II
(¢) ‘India is a quasifederal State’— Elucidate.

TSI GFT AT AG — 7 vyt T |

(d) Evaluate Centre-State legislative relation.

SIS (FY-3C HZANS TR (67 Jew A |

MODULE-III
(e) Discuss the role of the Supreme Court in India in the light of ‘judicial activism’.

Ry FFror Afielfe Ser FAW @I ShrF SNE5 S

(f) Discuss the powers and functions of the Chief Minister of a state.
SRS JAINEE TSl € Fwl S T |

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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WEST BENGAL STATE UNIVERSITY

B.A. Honours Ist Semester Supplementary Examination, 2021

PHIACORO02T-PHILOSOPHY (CC2)

WESTERN LOGIC-I

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z T YMo Q"Y/VW fac Fed1
Candidates should answer in their own words AT TS ST I AT TN
and adhere to the word limit as practicable. s R
All symbols are of usual significance.
GROUP-A
I. Answer any five questions from the following: 2x5=10
T @-Cieat #fpfe elvew Tex wiss

(a) What is propositional form? Give an example.
oe-SIFI TET00 F QICN 9 G0 Trizsel wis |

(b) What is a null class? Give an example.
X @I FETCO P @I 9 Swiggel wie |

(c) Give an example of an argument and an argument form.
@3 Y& a3 G Y& PR Trigzel WS |

(d) What is material implication?
TE5TS & @00 i (@I 2
(e) What is self-contradictory statement form? Write with example.

To s Y AFIFI TET00 B! QICH 2 TRIZFS FRCAN Tad wie |
(f) Give logical equivalence of the proposition A D B in terms of ‘v’ and ‘~’.
A D B —9% 50 (NS [ 6 7S V> @K~ A
(g) Why is the truth tree method called a decision procedure?
TN AGOCF (o ol 21mfo et =37 9
(h) Put ‘v’ mark on the right answer.
o Ted ¢ v oz wie)
If p-g=T, then the truth value of the statement form (p>¢g)=~q is T/ F.
M p.g=T =, A (pDg)=~q JFNPRGI TP 2= T/ F .
(i) Symbolize the following:
SIS A3
() pifq
p3fiq
(i) p is the sufficient condition of g.
P, ¢ @3 7Kg =¥

1074 1 Turn Over



CBCS/B.A./Hons./1st Sem./PHIACOR02T/2021

(j) What are the differences between material equivalence and logical equivalence?
5T Tl 4R (e T3 [ elten LS|

2. Answer any two questions from the following: 5%x2=10
fefeiie @it 7 eivea e mes
(a) What are the differences between exclusive disjunction and inclusive disjunction?
oA = SfRERA SR@r- oL (e |
(b) What is a counter example? Explain with example.
NG 1EE FI 9 TriRgel FRCIICS 1T FCN

(c) Why is the mood ‘AAI’ invalid? Write the answer according to the Boolean
interpretation.

‘AAT” ST (&4 S 9 FoR TOIPACE Ted 78|

(d) Write the rules of testing statement as tautology / contingent / self-contradictory

by truth tree method.
G0 BT ooy [ WHfeF [ Fostenme Mo a7 ToriiR oo famaf
e
GROUP-B
Answer any two questions from the following 15x2 =30
faferiie @-@ie 77 @oiw Tea me
3. (a) Test the validity of the following arguments by Venn diagram. 5+5

feafeiie Ffeefer ceafbraa R el Rek @i

(1) All worldly things are transitory, because no worldly thing is non-material,
and no material object is non-transitory.
7] A7 Fom SRS TR, T (@I AL T T 97 @R (Fie T e
- 7/RRG T 7 |

(i) All bridge players are people. All people are thinking-being, so all bridge
players are thinking being.
FRFE QI (ACEINGS N | I A2 DT | oA 7 Jier CAETes Hemie |

(b) (i) Determine whether the following statement form is tautologous, 21l
self-contradictory or contingent by means of truth table. 2
TP MR e ARG Foime), Fos ey I wivifes ol [ s
[(pvq)-(pvr)=[pv(qg-r)]
(i1) Use truth table to determine the validity of the following argument. 21l
FePARAR MR e Ifeta (Feet [Reia et .
(RvS)DT
> (R-S)
S(R-S)D(RVS)
4. (a) Use the truth tree method to determine whether the following statements are 3+3

consistent.

oA riwmied MR e el sy weifs e [ b s
(i) A—>C,B—>C,-4,-4A—-C

(i) AvB,A—>B, A < —-B
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(b) Determine whether the following statements are tautologous or not by using truth
tree method:

oI “iwfod 7l Nove APy fer Fosre) [eel (raiies
(1) [A>B—->0)]—>[(4->B)—>(4—-0)]
(i) (P—>0Q) > [-(Q&R)—>—(R&P)]
(c) How can the truth tree method be used to test consistency?

oA siafod AR Fei Faife [ vt 2w grare

5. Construct formal proof of validity of the following arguments (any three) (Do not
use C-Pand /-P)

e eslin arrete @eer e 7ie (@ @it feqf )(C-P A [-P 72T
1T M)
1 Jv(~J-K)
JoOL /o (L-J)=J
(i) (Z2Z)D(4DA)
(ADA)D(Z>2Z) /-.AD A
(i) ToWU-V)
UvVyow /| -..Tow

(iv) Ifeither Socrates was happily married or else he wasn’t, then Socrates was a
great Philosopher. Therefore, Socrates was a great philosopher.

T @ W @, W FFOOR [RAfee Gl 7§47 fedt w123l ot ), o= Jwro
G W2 w{fes 2w | ST, T GH aFe FRi wiifas B |

6. (a) Explain the method of Indirect Proof as a method of proving argument
&7 @l “imfomee! AR @il 2iws Tl FEi
(b) Prove the validity of the following argument by C.P.:
C.P.-a3 7Ry fNeare Yfetha (el Roi Fals
ADB,CoD /:.(AvC) D> (BvD)

(c) Prove the invalidity of the following argument by the method of assigning truth
value.

FOTET) WAl “fafod AR W et sitaee! @i sl |
[(X-Y)-Z]>4
(Z24)o(B20)
B /. X>C

(d) Prove the validity of the following argument by I.P.
LP. e ey e gfea el e e

D> (Z oY)
Zo>(Y>~Z) /:.~Dv~Z

N.B.: Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour
after end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.

X
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WEST BENGAL STATE UNIVERSITY

B.A. Honours Ist Semester Supplementary Examination, 2021

HISACORO02T-HISTORY (CC2)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z T Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR TG AT AT M
and adhere to the word limit as practicable. s R
GROUP-A
eta-5
Answer any fwo questions from GROUP-A 5x2=10

Each answer has to be written within 250 words approximately
e+ (A @-@IE 715 evid Tea wie) aifsl $ea 2 o *Itwa Sy A AgT

1. Who were the Neanderthals?
fEeeRs FiEl feee ¢

2. Write a note on the impact of the discovery of iron on warfare.
T&REE @GR NREHET LI T2 a6 it @eal

3. Write a short note on the Epic of Gilgamesh.
AT ICCea TR TR @ {6 BIt (1l

4. Why did the ‘Polis’ decline?
& AT ~row 2wfee ¢

5. Write a short note on the Peloponnesian War.

(O Joad B9 @ {0 FRFRe DIl (w1l

GROUP-B
etal-2

Answer any two questions from GROUP-B 8x2 =16
Write each answer within 400 words approximately

fTeta-2 (I @-@ 715 evie Sea wie) afsfb $ea soo *twa wwy At Ag T

6. Write a note on Upper Palaeolithic art.
Trbelg 2e3 Lokl IsrpeTia B @0 BIel (1l
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7.

10.

11.

12.

13.

14.

15.

1068

Who were the Hattis and the Hittites?

2 @ 25126 Tl fora ?

Discuss the urban plan of Mesopotamia.
IR 9917 AR5 S S|

Who were the Helots? How did the Spartans treat them?
‘@eTB TR TReT 9 ™baal CItrd HZe il SNb=e FCoe 9

Did Greek philosophy reach its climax under Aristotle?
SIRPOGCER TR i efeT R e s (el 9

GROUP-C
etat-of

Answer any fwo questions from GROUP-C
Write each answer within 600 words approximately

fTetal-ot (ATF - 75 @vaa Tea we | @fo Tea voo =itwa wwy At g

Discuss human evolution from the emergence of Australopithecus to Homo
Erectus.

RN PILPIER Tewife (R @I 3EFoM e Maeifod Ras« SeEtvat St

Examine the process of urbanization and state formation in Mesopotamia.

CICNICH TR oI @ R 190aa elferat #rficenve el

Was the society in Mesopotamia stratified in nature? What was the position of
women in Mesopotamian society?

CTEAGRRR TCe & B9 [ete et 9 «3 it [k SR J e 9

What were the distinguishing characteristics of the Greek polis as a form of
political organization? Was it a face to face society?

ARG RN T2t A AR 2y F 2ot 9 @Bt 75 @6 JearfR e fae 9

Can the ancient Greek Society be described as a ‘Slave Society’?
251 ST e F 7 TS I67 T 2

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.

4+4

12x2 =24

12

12

8+4

8-+4
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WEST BENGAL STATE UNIVERSITY
B.A. Honours 1st Semester Supplementary Examination, 2021

ENGACORO2T-ENGLISH (CC2)

Time Allotted: 2 Hours Full Marks: 50

Thefiguresin the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

SECTION-I
Answer each of the following in not mor e than 500 words
1. (@) With special reference to Book | and Book |1 of Iliad, discuss the epic conventions 10
you findinit.
OR

(b) Assesscritically the matter of divine intervention in the first two books of Iliad.

2. (@) Do you think that the play Oedipus the King demonstrates the triumph of fate over 10
individual will? Discuss with reference to the text.

OR
(b) Assess Oedipus the King as atypical Greek tragedy.

SECTION-II
Write a short note on any one of the following questionsin about 200 words 5x1=5
3. (8 The significance of the conflict between Achilles and Agamemnon in the first two
books of Iliad.
OR
(b) Role of Jocastain Oedipus the King.
SECTION-III
Answer each of the following in not mor e than 500 words
4. (a) Comment on the significance of the notion of “divine revenge” in Book 111 of Ovid's 10
Metamor phoses.
OR
(b) Write an essay on the theme of transformation with reference to Book |11 of Ovid's
Metamor phoses.
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5. (8 How does Plautus play The Pot of Gold reflect the socia realism of itstime?
OR
(b) Critically assess the characters of Euclio in Pot of Gold.

SECTION-IV

6. Write a short note on any one of the following questions in about 200 words:
() Story of Narcissus

(b) Conclusion of Plautus' Pot of Gold.

N.B. : Sudents have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong

submission (at in proper address). Sudents are strongly advised not to submit multiple
copies of the same answer script.
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B.A. Honours 1st Semester Supplementary Examination, 2021

EDCACORO2ZT-EDUCATION (CC2)

EDUCATIONAL PSYCHOLOGY

Time Allotted: 2 Hours Full Marks: 50
The figuresin the margin indicate full marks. e 3T F15Z T2 N e e
Candidates should answer in their own words A [T @I T2 FEGT AT N
and adhere to the word limit as practicable. Ges PRI

1

All symbols are of usual significance.

Answer any two questions from the following: 15x2=30
fesfeie @-cwie 76 ecss Tea wies

(@) Define Educational Psychology. What is the relation between education and  4+6+5
psychology? Explain in brief the concept of Synaptic transmission.

Rt IR TR e | R 8 IR S TR 5 9 FATHCS Eieie Gt
BRI I&)N

(b) Define human development. What are the principles and types of human  5+5+5
development?

TR R weeel wie | M- R Aife ¢ [fey aamef i st

(c) Define learning. Describe any two factors of learning. What is the difference  4+6+5
between classical and operant conditioning?

T sl wie | FeTa Q- 76 Soiimia 517 0l 1 26 ¢ A Saecad W
A1y 5 9

Answer any three questions from the following: (within 200 words) 5x3 =15
ffeifie @-@iet foafe aicsa Ted wies (eifsfs 200 *Itwz x))
(8) Write the characteristics of Perception.
orR(ela (AMIBr et (e
(b) Define Personality.
FfeTe e wie |
(c) What isthe relation between Intelligence and Creativity?
e @ FyETAIETOR Ky FE 9
(d) What isthe scope of Learning?
e #Afafd oS & icai ¢
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3. Answer all questions from the following: 1x5=5
feeteriae Fefs e Tes nies
(8 Which of the following is known as the ‘Master gland’ ?
(IO Master gland’ J&11 23 9
(i) Pituitary (if) Thyroid gland  (iii) Gonads (iv) Adrenal gland
(b) Structure of Intellect (S.0.1) theory of intelligence was stated by
S.0.| oCEd &7 FET
(i) Thurstone (ii) Gardner (iii) Guilford (iv) Sternberg
(c) Which stage of human development is known as the period of ‘ storm and stress' ?
R R I BACE AT S AR e o1 27 9
(i) Infancy (i) Childhood (iii) Adolescence  (iv) Adulthood
(d) Theterm‘Libido’ was introduced by
“ferfacer ==l el [ FE
(i) Erickson (i) Freud (iii) Jung (iv) Adler
(e) Theterm ‘Psychology’ has been derived from
‘Psychology’ *b a1t
(i) Psycho + Logas (ii) Psyche+ Logy (iii) Psyche + Logos(iv) Psycho + Logos

N.B. : Sudents have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end of
exam. University / College authorities will not be held responsible for wrong submission (at in
proper address). Sudents are strongly advised not to submit multiple copies of the same
answer script.
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WEST BENGAL STATE UNIVERSITY

B.Sc. Honours Ist Semester Supplementary Examination, 2021

CEMACORO02T-CHEMISTRY (CC2)

PHYSICAL CHEMISTRY-I
Time Allotted: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

Answer any three questions taking one from each unit

UNIT-I
Kinetic Theory and Gaseous State

1. (a) At a certain temperature, the speed distribution function depends on the nature of the
gas but the energy distribution function is the same for all gases. Justify or criticize.

(b) Define ‘mean free path’ of a gas molecule. At ordinary temperature and extremely
low pressure, the gas molecules collide far more often with the container wall than
with one another. — Explain.

(c) For many polyatomic gases, the classical equipartition theorem fails to explain the
heat capacity values at low temperatures. — Explain.

(d) Show that the van der Waals equation leads to values of Z <1 and Z >1, where Z is
the compressibility factor, and identify the conditions for which these values are
obtained.

2. (a) The average speed of a particle in an ideal gas is (v) . Then show that the number of

particles striking a unit area of the wall of the container in unit time is equal to

%%{v} , where 2L is the number of molecules per unit volume.

4

Given: j xe_‘“2 dx =%
0

(b) Calculate the average time between collisions for O, at 25° C and 1 atm. The
diameter of oxygen molecule is 2.4 A.

(c) The virial equation of state in terms of P is given by

Z=14- [b— e jP+ 2 3[2[7— e jP2+ ------
RT\" RT)  (RT) RT

At what temperature does the slope of the Z versus P curve (at P=0) have a
maximum value for the van der Waals gas? What is the value of the maximum slope?
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(d) Use the following data to find the value of R:

Average speed < c¢ > for an ideal gas at 25° C and 1 bar is 444 ms'. The molar mass
is 32x107° kg mol .

UNIT-1I

Chemical Thermodynamics

3. (a) Identify the following systems as open, closed or isolated systems:
(i) A system surrounded by a rigid, impermeable and diathermic wall.

(i) A system surrounded by a non rigid, impermeable and adiabatic wall.

(b) 0.1 mole of a perfect gas with C, independent of temperature is made to undergo a
reversible cyclic process consisting of the following steps:

Stage 1 (1 lit, 1 atm) — Stage 2 (1 lit, 3 atm)
Stage 2 — Stage 3 (2 lit, 3 atm)
Stage 3 — Stage 4 (2 lit, 1 atm)
Stage 4 — Stage 1
Calculate g, W, AU for each step and for the complete cycle. [Molar Cy = 1.5 R]
(c) Verify that the results for the cycle satisfy the first law of thermodynamics.
(d) Show that the change of entropy is a measure of unavailable work.

(e) An ideal refrigerator works between 0° C and T° C. It freezes 2.0 kg of water at 0° C
per hour. At the same time, the total heat output to the room is 200 kcal/hr. Calculate
T° C. Latent heat of fusion of water at 0° C = 80.0 cal/gm.

4. (a) Justify or criticise the following:
(i) AU is given by the integral '[Cv dT .

(i) AH = Q for a process in which pressure is not constant throughout but for which
the final and initial pressures are equal.

(b) Show that the work involved in a reversible, adiabatic volume change from V; to V>
of one mol of an ideal gas is given by

v R/C,
w=C,T|| =+ -1,
V
where 7 is the initial temperature.

(c) State Kelvin-Planck and Clausius statements of second law of thermodynamics.

(d) Consider the following cycle using 1 mol of an ideal gas, initially at 25° C and 1 atm
pressure.

Step 1: Isothermal expansion against zero pressure to double the volume.
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5. (a)
(b)

(©)

(d)

6. (a)

(b)

(©)

1058

Step 2: Isothermal reversible compression from L t0 1 atm.

2

(i) Calculate the value of f d?Q

(i) Calculate AS for Step 1 and Step 2 respectively.
(ii1)) Show that AS for Step 1 is not equal to the Q for Step 1 divided by 7.

UNIT-III

Chemical Kinetics
A zero-order reaction can never be elementary. Justify or criticize.

For the first-order reactions A—"1—B and A—2C , show that at any time
during the reaction [B]/[C]=k,/k,. Plot concentration versus time profile of 4, B
and C when k, =k, .

The addition of KCI will influence the rate constant of the following reaction at a
given temperature. — Justify.

S,0; +1~ — Product

Graphically represent the plot of logk versus pH of a homogeneous acid catalyzed
reaction. k is the rate constant.

‘Unimolecular reactions are not always first-order’. Justify the statement using
Lindemann’s mechanism.

The rate constant of a reaction increases two times when the temperature changes
from T K to (7' + 10) K, whereas that for another reaction increases three times for the
same change in temperature. Find the ratio of their activation energies if they have
comparable pre-exponential factors.

Show that if 4 reacts to form either B or C according to ALB or ALC ,
then E _, the observed activation energy for the disappearance of 4 is given by

a s
k +k,
where E; and E, are the activation energies for the first and the second reaction
respectively.

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end of
exam. University / College authorities will not be held responsible for wrong submission (at in
proper address). Students are strongly advised not to submit multiple copies of the same answer
script.
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BOTACORO2T-BoTANY (CC2)

Time Allotted: 2 Hours Full Marks: 40

Thefiguresin the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer all questions briefly from the following: 1x5=5
(a) Distinguish between nucleotide and nucleoside.
(b) What is buffer solution?
(c) Define covalent bond with example.
(d) What is chiasma?

(e) Mention the components of cytoskel eton.

2. Answer any five questions from the following: 3x5=15
(At least two questions from each Group)
GROUP-A
(&) What is prosthetic group of an enzyme? What do you mean by Lineweaver-Burk 1+2
plot?
(b) What do you mean by the term entrophy and enthalpy of a system? 1% +1%
(c) What are exergonic and endergonic reactions? 1% +1%
(d) Comment on the different epimers of glucose with structures. 3
GROUP-B
(e) Explain the nucleosome concept in chromosome packaging. 3
(f) What are the functions of lysosome? Name a disease associated with lysosome 2+1
dysfunction.
(g) With suitable diagram show prophase-1 of meiotic cell division.
(h) What are the main constituent of plant cell wall? Mention the function of plant 2+1

cell wall.
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3. Answer any four questions from the following: 5x4 =20
(At least two questions from each Group)

GROUP-A
(@) Point out the difference between B-DNA and Z-DNA. 5
(b) Discussdifferent levels of protein structure mentioning the bonds involved. 5
(c) What are essential fatty acids? Write down the chemistry and function of 2+3
cholesterol.
GROUP-B
(d) How do the rough endoplasmic reticulum and golgi apparatus act in the 5
production and releasing of protein?
(e) Draw the ultrastructure of chloroplast with proper labelling and mention the 3+2
function of different parts of chloroplast.
(f) What is MPF? Describe schematically the different events of cell cycle regulation 1+4
in eukaryotes.

N.B. : Sudents have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer script.
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BNGACORO02T-BENGALI (CC2)

JiET AFATE
Time Allotted: 2 Hours Full Marks: 50
e 7 E AN 2AeHF ST [ P71
AT [cers @I I3 TE] AN W4 G&H 70w 271
s1 eifelt u3F T 9B 0 2 9 (i 1Ff6 eiess Ted wies S0x8 = 80
(2ifoTb Teram =i WY ST oo ZA)
O@FF -
(F) (AR 2IIFET (726 43 8 g TSI — S S| 0
R
(}) ‘oA FICF A0 9 (ST AoToifeTd resfe 3 (@l wiZs =i A0 - A *mioa 8+
PIRACATME SNCEA FC |
GFF - 3
(9) e ¢ Ko smeface sfeer v a8 2 Bracz NH-Sfews ¢ 2if-smw ot 0

NECE T o — SCAG FC|
24l

(}) ‘e SR SN, S S, S NG Z@ 1 - | & 9 &I AR oW 2 omivee S+
IR MR @ TR Teyeiefb 4l 7Itere G- RA@ @7l

O9FF - ©
(8) TR YF7 GEREEE DI ‘alrzieniien TR SR elfswlene e AE, Aetios 0
8 QST SRR #IfT5T wie |
w2l
() Aeifer M B 2 IR IFVE FFA QAR T — SNCEAB FEI S0
a9FF - 8
(R) ‘oMo’ &t St SR (5ow SReIEd Fige o F@i S0
w2l
(T) ToTeNRS’-aq e’ F6T JWIk R Fhog 909 FEM S0
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1 fawliRe @-@iE 75 evim FRERG Tew wies (<R ST d¢o R AFAR) €x =50
@) ol RIS AR CE S Qi SHH+9
fire 3fer vl AR wi”
— AT (& 9 (I AR 2% 9 Tge SRT¥ Wi [R5 FEt
(?) “ifsy 5 fem W-Foica) S48
oI, Sibed F© w9l e (2]

— | (F ¢ T wr*Ifba wieR Reawe el

(5) TEIEE FIGH FEFQA ol € WoR AN F 9 TEAR ROl @ WOl WA ETCAN S+H5+5+5+d
PTG € FEAR RACZF T & (2o 2

(¥) “oleTaice o *E PR Feie SH5+9
el o 39 @ig Wa Ae”
— (F, FIE 92 O FEA 2 IS G2 FU I FI9 F 2

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end of
exam. University / College authorities will not be held responsible for wrong submission (at in
proper address). Students are strongly advised not to submit multiple copies of the same
answer script.
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PLSACORO1T-POLITICAL SCIENCE (CC1)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z TN Q"Y/VW fac T3
Candidates should answer in their own words AT ST ST I AT TN N
and adhere to the word limit as practicable. s R

1. Answer any five questions from the following (within 30 words): 2x5=10

feraferte @-@I #i5 2vrm Tea nies (&ifSih wo *Itw way)

(a) Define ‘authoritative allocation of values’.
TR TG IO IR 78 |

(b) What is meant by politics as power?
o] forNE Aedife T@cs 6 @R 2

(c) Mention two basic features of traditional approach to Political Science.

ARG BE AR iEosa qio (M%) Srard FC |

(d) What was the significance of the behavioural revolution?
SbelAI Rz wiesrd 7 e 9
(¢) What do you mean by ‘Credo of Relevance’?
‘Credo of Relevance’ I510S {F G@IG ¢
(f) What is the source of legitimacy in Weberian model of Charismatic authority?
SN ICAIZA TS0 O (IF0F T 3 9
(g) How did Almond define structure?
Almond FISC & et e 9
(h) What is the function at gatekeepers in a political system?
AT I BT IS PN F 2

(1) What do you mean by deconstruction?

ffersfiel 2etce 9 &5 @i ¢

2. Answer any two questions from the following (within 100 words): 5%x2=10
e @-iet 7fo e Tea wies (2lfss soo *Itara )

(a) Explain briefly the scope of Political Science.

AR “ffa @ Fee i are )

(b) What are the basic tenets of behaviouralism as expounded by David Easton?
David Easton &%we S5=eicns &7 (Aigrafe i @ 9
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(¢) Identify the differences between traditional and rational legal authority.

AT 6 YGe-WZAa T Cga W Ay fwefizel e

(d) What are the input and output functions in Almond’s model of structural
functionalism?

Almond 2%€ FHIC SR NCSCE TARRe! @ Tojofiw drfiaenefer S @i

3. Answer any three questions (within 350 words each) taking one question from 10%3 =30
each module

2f st wfeTs T 96 F@ 2 9w @ foae ara Tex nies

(2S5 weo =t S)
MODULE-I
(a) Explain the different meanings of politics.
Areifor Rfen sidef e v

(b) Trace the evolution of the discipline of Political Science.
(5 *iE RoT AEResie [Raoa FiE wie |

MODULE-II
(c) Evaluate the Marxist approach to politics.

AGHIS HHH AFII FIEeR b7 T S |

(d) Explain the post behavioural critique of behaviouralism.

ORI T&F THIIRT FANCEBAIG IR T

MODULE-III
(e) Critically discuss David Easton’s model of system analysis.

David Easton-ad JIZC2F OG0 ANNEABAITE G FCE! |

(f) Analyse the postmodern perspective to the study of politics.
G b51A ek iy wigesi A Sl

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY

B.A. Honours Ist Semester Supplementary Examination, 2021

PHIACORO01T-PHILOSOPHY (CC1)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z T Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR TG AT AT M
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

Question No. 1 and 2 are compulsory. Answer any fwo from the rest

STR GAR A TR & TITRF | ST (A-(FICA 715 @Teid Tea wis

I. Answer any five questions from the following: 2x5=10
T @-CFieat #fpfe elvex Tex wiss
(a) What is meant by Eleatic School?
oo Fremiy 0o @RI 2

(b) State the difference between Truths of Reason and Truths of Fact according to
Leibnitz.

NI TP IR Ty 7o) IR TGy FCejd T AL S|
(c) What is Natura Naturans?
S e 9
(d) State two features of Platonic forms.
CRICOR SRR 710 CAf1Zy e
(e) What are the criteria of truth according to Descartes?
(TS SR Fopord Mewesafe] i Fi o
(f) Which philosophers are called ‘The lonics’ and why?
I RPTerRRCRR SICTI FT = @G3R G 2
(g) “God is all and all is God” — Who says this?
B I G IR TN — (F G ACETCRA 9
(h) What are the two main features of knowledge according to Plato?
CRICOIR SIC® GRICR1 21 716 (i3] 1 Sl 2
(1) What is the Law of Continuity?
ferozeror famsis 1 ¢
(j) What is innate idea according to Descartes?
AT S AZES LIl F 9

2. Answer any two questions from the following: 5x2=10
fasfie @-ce 76 elos Teq wies

(a) Why did Heraclitus consider ‘fire’ to be the ultimate object? Explain the reason in
brief.
EIFOP NG (T (e (e ToAW TR 2 G 7#610e IEH Aewet i
M
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(b) How does Parmenides made a distinction between Appearance and Reality?

ARCNBAIBEN eI SO 8 I AT W) A1) FCCRA 9

(c) What is the Third Man Argument?

oo e I 9 2

(d) ‘Man is the measure of all things” — Explain.

1024

R 25 K fFga AR i i

Explain and examine Aristotle’s criticism of Plato’s theory of idea.
(RIBIR Qieeres [Reeta SUIfRIBG(eT SR er 12l ¢ Kb el |

Explain and examine the proofs for the existence of God as presented by Aquinas.

SIFEAS SePTeel A T AT IS fer ipia i et

15

15

What is the first principle of Descartes’ Philosophy? How does he arrive at it? Is it 2+4+2+7

an inferential truth? What is the importance of this principle in his philosophy?
CRRICST W 22w o F 9 fof el «2 Tifsre Toire 2w 2 @ft & Smieera w7 ¢
ofa w93 Tfelboa ewg ¢

What is Pre-Established Harmony according to Leibnitz? Can it adequately account
for the relation of one to many? Discuss.

Nzafce e ‘wRfdife e § 9 @ @3 A I TTF i @ Tedw &
(LT ?

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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WEST BENGAL STATE UNIVERSITY

B.A. Honours Ist Semester Supplementary Examination, 2021

HISACORO1T-HISTORY (CC1)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z T Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR TG AT AT M
and adhere to the word limit as practicable. s R
GROUP-A
e+
Answer any fwo questions from Group-A 5%x2 =10

Each question has to be written within 250 words approximately
e+ (A @-@IE 715 evid Tea wie) aifsl $ea 2 o *Itwa Sy A AgT

1. What is the importance of Coins in the reconstruction of ancient Indian history?

2B SRS SRR 700 JalH @G i 9

2. Write a short note on Microlith tools.
FYFAR SYE T G0 7RG Bl @Tea |
3. What is the significance of Mehergarh excavation?
(CZANG BRIV Sl F 9
4. Describe the principal features of ‘Sabha’ and ‘Samiti’ in the Vedic period.

&fr oot el @ e’ -7 et @RiEre 2@ w@

5. Discuss the main principles of Buddhism.

QraCsia o1 Aifoe s SEnl S

GROUP-B
etat-4

Answer any fwo questions from Group-B 8x2 =16
Each question has to be written within 400 words approximately

fTeta-2 (A @-@ 715 2lvsa Tea wie ) @fsb $ea soo *twa wwy At Ag T

6. Was there a ‘Neolithic Revolution’ in India?
OO ! 1y &% [ei 2T ¢

7. To what extent was Indian history influenced by its environmental factors?
STy 3oz Fwb! siftitaiore [enefl aet aeifie s ¢
1018 1
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8. Assess the importance of trade in the Harappan civilization.
28 eroR Jfelcera Wy fWeid Fe

9. Analyze the position of women in the Vedic age.
e ool AR S [esEe weEi
10.  Write a brief note on the sixteen Mahajanapadas.

@TH SRErme e T @i FRRe B @t

GROUP-C
retat-of

Answer any fwo questions from Group-C 12x2 =24

Each answer has to be written within 600 words approximately

fTetal-ot (ATF - 75 @vea Tea we | @fo Tea voo =it wwy At g

11.  Discuss the importance of the literary sources for writing the political, economic
and social history of ancient India.

2B SiAced AATSF, TLAfeT € AMET Sfox o Ao Toammalem awg
SCeTH F |

12. Discuss the regional distribution of the Neolithic cultures in India.
OIACS TR FeF O ST [Keia Sl Fe |

13.  Critically analyze the different theories about the possible causes of the decline of
the Harappan civilization.

2320 Wereld KL AT TR 7 [ifen oo [ewd s

14.  Examine the problem of locating the original homeland of the Aryans.
wfe i aere S e TS #Hise st

15.  How was Magadha able to dominate the politics of Northern India in the Sixth
Century BCE?

T {295 #Fit Tex SRiced AEITe foEe Wolk Frei e Zafeet 9

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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